How to do test corrections:

1. Multiple choice questions:
A. Write down the question number only (do NOT write the question)
B. In 1-2 sentences, explain why your answer is wrong (see example below)
C. In 1-2 sentences, explain why the correct answer is correct

Example:
Question 1
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Look at the food chain above. Assuming the grass begins with 50,000 units of energy, how much energy is
available for the hawk?

a. 5,000

b. 5

a

i €. 500

d. 50
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Question 1

C is not correct because 500 units of energy are available to the frog using the 90% rule.
B is correct because if you divide by 10 each time, 5 energy units would be available for the

NOTE: Obviously the test won’t give you the correct answer as you see above.

Short answer questions:
Re-do to receive some partial credit



